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beamP(TM) - beamP(Ilgb), scatP(RK) - scatP(lgb)

NHEID/ESNSAp/p (FWHM)

® Min~maxZ 1000 bin"CtJ]] D CTgauss fit (back upZER)
O THENDAp/plE. EREDIDEREE L[EF

$\Delta p / p$

FWHM FWHM/meanp

beamP_train  0.0008584010926978187 0.0004763611458157388

beamP_test 0.0010322906225241236 0.0005728715978240585

scatP_train 0.005389140054989304  0.0029859232823965603

scatP_test 0.005481620379754441 0.003036751525353946
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beamP(TM) - beamP(lgb) box plot

o=7dp&. &(C/RI gauss fit Dsigma
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beamP(TM) - beamP(Igb) for all data

c = ROOT. TCarwas("c™, "c”,500, 4007

h = ROOT.THIFC de_al 17, “de_al 1™, 1000, de.min(), de.max())
for i in ranze(de.shape[0]):
hoFill(deli1)
h.Fit("gaus”, "37)
h.Draw()
c. Draw()
FCH=2758.2 FROM MIGRAD STATUS=CONVERGED 94 CALLS 95 TOTAL
EDM=1.34415=-11 STRATEGY= 1 ERROR MATRIX ACCURATE
EXT PARAMETER STEP FIRST
MO, WAME WALLUE ERROR sIZE DERIVATIVE
1 Constant 3.72621e+03  1.54030e+01  2.987622-01 -3.21431e-08
2 Mean 2.07834e-06  1.20393=-06  3.08741=-08 -1.3147Ze+00
3 3iema 3.80074e-04  1.04127=-06  1.38838=-0b  £.46108=-03
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beamP(TM) - beamP(Igb) for train data

M Slide Type | Slide v

ROOT . TCanvas (™","", G00, 400)
ROOT.THIF ("dp train™, “dp_train™, 1000, dp_train.min(), dp_train.max())
for i in ranze(dp_train.shape[0]):
hi-Fill{de_trainlil}
hl.Fit("gausn™, “57)
gl = hl.GetFunction(’ gausn’)
gl _parameter = {}
for i in ranze(zl.GetHpar(]):
gl parameter (gl .GetParName(i)] = g!.GetParameter(i)

=
ol

hl.Draw()
cl-Draw()
FCH=1195.13 FROM WIGRAD STATUS=CONYERGED 81 CaLLS 82 TOTAL
EDM=7. 45476e-049 STRATEGY= 1 ERROR WATRIX UNCERTAINTY 1.2 per cent
EXT PARAMETER STEP FIRST
NO. HEAME YaLUE ERROR sIZE DERIVATIVE
1 Canstant 1.39162e+00  5.17903e-03 -4.63932e-06  4.54820e-03
Z  MWean 9.457MNe-07  3.66737e-08 -1.B7283e-10  1.37617e+05
3 Sigma 3.64529e-04  1.12167e-06 -4.31006e-06 -5.37993e+00

Warning in <TCanvas::Constructor>: Deleting canvas with same name:
Warning in <TROOT::Append>: Replacing existing THI: do_train (Potential memory leak).
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beamP(TM) - beamP(Igb) for test data

M Slide Type  Slide v

ROOT . TCanvas("c2™,"c2”, GO0, 400)
h = ROOT.THIFC™R2™, “de_test™, 1000, de_test.mini(), de_test.max())
for i in range(dp_test.shape[0]):
hZ.Fill{de_test [i+dp_train.shape[0]]1)
h2.Fit ("zausn”, "87)
g2 = h?.GetFunct ion(’ gausn’)
2?_parameter = {}
for i in range(gl.GetNpar()):
g7 _parameter[g2.GetParName(i)] = 22.GetParameter (i)

he.Draw()
c?.Draw()
FCH=1520.76 FROM MIGRAD STATUS=CONYERGED 104 CALLS 105 TOTAL
EDM=3.41434e-08 STRATEGY= 1 ERROR MATRIX UNCERTAINTY 0.0 per cent
EXT PARAMETER STEP FIRST
NOL. NAME VALUE ERROR SIZE DERTYATIVE
1 Constant 1.05461e+00  6.08826e-03  2.09558e-06  5.45608e-02
2 Mean 0.18732e-06  2.53100e-06 -4.23327e-07 -9.44080e+00
3 Sizma 4.38373e-04  2.31255e-06  2.99228e-05  5.46860e-02

Warning in <TCanvas::Constructor>: Deleting canvas with same name: c2
Warning in <TROOT::fppend>: Rerlacing existing TH1: hZ (Potential memory leak).
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scatP(RK) - scatP(Ilgb) box plot

o=7dp&. &(C/RI gauss fit Dsigma

dp_all
dp_train
dp_test

2020/4/21

-0.3

-0.3

-0.3

: ....._.||+_ S

-0.2 -0.1 0 0.1 0.2

b

= +...

-0.2 -0.1 0 0.1 0.2

Y

....-_.;|+_ -

-0.2 -0.1 0 0.1 0.2

b

E70 meeting

0.3

0.3

0.3

Sigma

2.30579e-03

2.28856e-03

2.32783e-03



scatP(RK) - scatP(lgb) for all data

M Slide Type  Slide v
c = ROOT. TCarwvas("c”, ", 500, 400)
b= ROOT.THIFC de_al 17, “de_all®, 1000, de.min(), do.max())
for i in rangeldo.shape[0]):
hoFi T Cdeli])
h.Fit("gaus”, "57)
h.Draw()
c.Draw()
FCN=7143.68 FROM MIGRAD STATUS=COMVERGED 93 CALLS 94 TOTAL
EDM=2.04276e-07 STEATEGY= 1 ERROR MATRI¥ UNMCERTAINTY 4.9 per cent
EXT PARAMETER STEF FIRST
MO, NAME WALUE ERROR: SIZE DERIWATIVE
1 Constant 1.05400e+04  4.69850e+01  -3.407%6e+00 5. 52530e-06
72 Mean 1.62070e-0h  7.38073e-06  1.37679e-07 -9.00728=+01
3 Siezma 2.30579e-03  7.15130e-06  3.16484e-0b  1.02868e+00

Warning in <TCanvas: :Constructor®: Deleting carwas with same name: c
Warning in <TROQT: :Append>: Replacing existing THI: de_all (Potential memory leak).
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scatP(RK) - scatP(lgb) for train data

M Slide Type Slide v

¢l = ROOT. TCarwas (™", ™", &O0, 400)
h1 = ROOT.THIFC "de_train™, “de_train”, 1000, de_train.min(), de_train.max())
for i in rang=(de_train.shape[01):
R1Fill {do_trainli])
h1.Fit("gausn”, 757)
gl = hl.GetFunct ion(’ gausn")
gl parameter = [}
for i in rang=(gl.GetMpar(}):
gl _parameter[gl.GetParName(i)] = g1.GetParameter(i)

R1.Draw()
cl.Oraw()
FCM=4674 .83 FROM MIGRAD STATUS=COMYERGED 108 CALLS 109 TOTAL
EDM=2.48766=-07 STRATEGY= 1  ERROR MATRIX UMCERTAINTY  0.% per cent
EXT PARAMETER STEP FIRST
MO, MAME WALUE ERROR SIZE DERIVATINVE
1 Constant 2,70 1e+01  1.05888e-01  1.62778e-04 -9.19802e-03
2 Mean 1.94259e-05  §.73350=-06  2.93143=-06  3.38594=+00
3 Sizma 2.78806e-03  8.49748e-06 -4.02270e-05  1.51862e-01
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scatP(RK) - scatP(Ilgb) for test data

M Slide Type | Slide v

c? = ROOT. TCanvas("c27,"c2”, 500, 400)
h2 = ROOT.THIFC h2™, “deo_test™, 1000, do_test.min(), de_test.max())
for i in rangelde_test.shape[0]):
h2.Fill{de test[i+de train.shape[0]])
R Fit( gausn™, "57)
g7 = hZ.GetFunct ion(’ gausn’)
g2 _parameter = {]
for i in ranze(e?.Gethpar()):
2?2 parameter[g? GetParMame(i)] = g2.GetParameter(i)

R2 . Draw()
c? Oraw()
FCh=2505.13 FROM MIGRAD STATUS=CONYERGED 264 CALLS 265 TOTAL
EOM=6.61249&-10 STRATEGY= 1 ERROR MATRIX ACCURATE
EXT PARAMETER STEP FIRST
MO.  MAME YALLE ERROR SIZE DERIYATIVE
1 Constart 1.80495e+01  1.08100e-01  2.59357e-03  2.90718e-04
2 Mean 9.30848=-06 1.36837=-05  3.34473=-07  9.64582=-01
3 Siema 2.32783e-03  1.31547e-05  2.43280e-05  1.40817e-02
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